

On (p, q) -Fibonacci octonions

Ahmet İpek

Department of Mathematics
Faculty of Kamil Özdağ Science
Karamanoğlu Mehmetbey University
Karaman, Turkey
ahmetipek@kmu.edu.tr

Cennet Bolat Çimen

Ankara Chamber of Industry
1st Organized Industrial Zone Vocational School
Hacettepe University
Ankara, Turkey
bolatcennet@gmail.com

Abstract

In this paper, we aim at establishing some formulas and identities for a new class of octonions called the (p, q) -Fibonacci octonions which is introduced here.

Mathematics Subject Classification: 11B39, 05A15, 11R52.

Keywords: Fibonacci numbers, Lucas numbers, quaternions, octonions.

1 Introduction

Fibonacci and Lucas quaternions and octonions are another important step in the development of Fibonacci and Lucas numbers theory.

We deal here with the algebra of quaternions over \mathbb{R} -denoted by \mathbb{H} with the canonical basis, $\{1 \simeq e_0, i \simeq e_1, j \simeq e_2, k \simeq e_3\}$ having the multiplication rules

in tabular form:

\times	1	e_1	e_2	e_3
1	1	e_1	e_2	e_3
e_1	e_1	-1	e_3	$-e_2$
e_2	e_2	$-e_3$	-1	e_1
e_3	e_3	e_2	$-e_1$	-1

A quaternion is a element of \mathbb{H} , and a quaternion is defined by

$$\alpha = \alpha_0e_0 + \alpha_1e_1 + \alpha_2e_2 + \alpha_3 e_3, a_i \in \mathbb{R}, i = 0, 1, 2, 3$$

(see, [3]). For the first time Horadam [6] introduced and studied the so-called Fibonacci and Lucas quaternions, which are new classes of quaternion numbers for the classic Fibonacci and Lucas numbers. They are given respectively by the following recurrence relations:

$$Q_n = F_n + iF_{n+1} + jF_{n+2} + kF_{n+3},$$

and

$$T_n = L_n + iL_{n+1} + jL_{n+2} + kL_{n+3},$$

where F_n and L_n , respectively, are the n th classic Fibonacci and Lucas numbers that are given respectively by the following recurrence relations for $n \geq 0$:

$$F_{n+2} = F_{n+1} + F_n$$

and

$$L_{n+2} = L_{n+1} + L_n$$

with the initial values $F_0 = 0, F_1 = 1, L_1 = 2$ and $L_1 = 1$ (see, [11]). Fibonacci quaternions and their generalizations have been presented and studied in the several papers (see, [1], [2], [4], [5], [6], [7], [8], [12], [13]).

The octonions in Clifford algebra \mathbf{C} are a normed division algebra with eight dimensions over the real numbers larger than the quaternions. The field $\mathbb{O} \cong \mathbb{C}^4$ of octonions

$$\alpha = \alpha_0e_0 + \alpha_1e_1 + \alpha_2e_2 + \alpha_3 e_3 + \alpha_4e_4 + \alpha_5e_5 + \alpha_6e_6 + \alpha_7e_7, a_i(i = 0, 1, \dots, 7) \in \mathbb{R}$$

is an eight-dimensional non-commutative and non-associative \mathbb{R} -field generated by eight base elements e_0, e_1, \dots, e_6 and e_7 . The multiplication rules for the basis

of \mathbb{O} are listed in the following table[14]:

\times	1	e_1	e_2	e_3	e_4	e_5	e_6	e_7
1	1	e_1	e_2	e_3	e_4	e_5	e_6	e_7
e_1	e_1	-1	e_3	$-e_2$	e_5	$-e_4$	$-e_7$	e_6
e_2	e_2	$-e_3$	-1	e_1	e_6	e_7	$-e_4$	$-e_5$
e_3	e_3	e_2	$-e_1$	-1	e_7	$-e_6$	e_5	$-e_4$
e_4	e_4	$-e_5$	$-e_6$	$-e_7$	-1	e_1	e_2	e_3
e_5	e_5	e_4	$-e_7$	e_6	$-e_1$	-1	$-e_3$	e_2
e_6	e_6	e_7	e_4	$-e_5$	$-e_2$	e_3	-1	$-e_1$
e_7	e_7	$-e_6$	e_5	e_4	$-e_3$	$-e_2$	e_1	-1

(1)

We refer the reader to [3] for quaternions and octonions. Keçilioğlu ve Akkuş [10] introduced Fibonacci and Lucas octonions and gave some identities and properties of them. They are given respectively by the following recurrence relations:

$$Q_n = \sum_{s=0}^7 F_{n+s} e_s, \tag{2}$$

and

$$T_n = \sum_{s=0}^7 L_{n+s} e_s,$$

where F_n and L_n , respectively, are the n th classic Fibonacci and Lucas numbers.

The main purpose of the present paper is to give a very wide generalization called the (p, q) -Fibonacci octonion sequence $\{\mathbf{O}_n(p, q)\}_{n \geq 0}$ of the Fibonacci octonion sequence given by (2), and then to obtain new and interesting formulas and identities involving the sequence $\{\mathbf{O}_n(p, q)\}_{n \geq 0}$.

Our paper is organized as follows: the main results and their proofs for (p, q) -Fibonacci octonions is stated in the next section. Conclusions are presented in the last section.

2 (p, q) -Fibonacci Octonions

A generalization of the classic Fibonacci sequence $\{F_n\}_{n \geq 0}$ which are called the (p, q) -Fibonacci sequence $\{F_n(p, q)\}_{n \geq 0}$ is defined by the following recurrence relation for $p^2 + 4q > 0$ and $n \geq 0$:

$$F_{n+2}(p, q) = pF_{n+1}(p, q) + qF_n(p, q) \tag{3}$$

with $F_0(p, q) = 0$ and $F_1(p, q) = 1$. The paper [8] was devoted to studying the following quaternionic sequence for $n \geq 0$:

$$\mathcal{Q}F_n(p, q) = F_n e_0 + F_{n+1} e_1 + F_{n+2} e_2 + F_{n+3} e_3$$

where F_n is the n th (p, q) -Fibonacci number and e_0, e_1, e_2, e_3 is the basis in \mathbb{H} .

Definition 2.1 *The (p, q) -Fibonacci octonion sequence $\{\mathbf{O}_n(p, q)\}_{n \geq 0}$ is defined by the following recurrence relation:*

$$\mathbf{O}_n(p, q) = \sum_{s=0}^7 F_{n+s} e_s \quad (4)$$

where F_n is the n th generalized (p, q) -Fibonacci number.

Before proceeding to the study of the (p, q) -Fibonacci octonion sequence, we fix the following properties which will be useful in our computations.

1. The characteristic equation of (3) is

$$x^2 - px - q = 0. \quad (5)$$

2. Solving this equation for $p^2 + 4q > 0$, we get two distinct characteristic roots:

$$\gamma = \frac{p + \sqrt{\Delta}}{2}, \delta = \frac{p - \sqrt{\Delta}}{2},$$

where $\Delta = p^2 + 4q$.

3. Binet's formula for the sequence $F_n(p, q)\}_{n \geq 0}$ is

$$F_n(p, q) = \frac{\gamma^n - \delta^n}{\gamma - \delta}. \quad (6)$$

4. For $p^2 + 4q > 0$, the numbers γ and δ are real and $\gamma \neq \delta$. Also notice that

$$\gamma^2 + q = \gamma\sqrt{\Delta} \quad (7)$$

and

$$\delta^2 + q = -\delta\sqrt{\Delta}. \quad (8)$$

5. For every non-negative integer m

$$(a + b)^m = \sum_{n=0}^m \binom{m}{n} a^n b^{m-n}$$

where a and b are any real numbers.

These properties will be used extensively in the proofs of our main results.

From the definitions of (3) and (4), we obtain

$$\mathbf{O}_{n+1} = p\mathbf{O}_n + q\mathbf{O}_{n-1} \tag{9}$$

for $n \geq 1$.

Theorem 2.2 *Let \mathbf{O}_n be the n th (p, q) -Fibonacci octonion number. Then*

$$\mathbf{O}_n = \frac{\underline{\gamma}\gamma^n - \underline{\delta}\delta^n}{\gamma - \delta}, \tag{10}$$

where $\underline{\gamma} = \sum_{s=0}^7 \gamma^s e_s$ and $\underline{\delta} = \sum_{s=0}^7 \delta^s e_s$.

Proof 2.3 *From (4) and (6), we have (10) with*

$$\mathbf{O}_n = \sum_{s=0}^7 \left(\frac{\gamma^{n+s} - \delta^{n+s}}{\gamma - \delta} \right) e_s.$$

in which $\underline{\gamma} = \sum_{s=0}^7 \gamma^s e_s$ and $\underline{\delta} = \sum_{s=0}^7 \delta^s e_s$.

It is well known that for \mathbf{O}_n defined by (4) the ordinary generating function is $G(x) = \sum_{n=0}^{\infty} \mathbf{O}_n x^n$ and the exponential generating function is $E(x) = \sum_{n=0}^{\infty} \mathbf{O}_n \frac{x^n}{n!}$.

Theorem 2.4 *For \mathbf{O}_n defined by (4), we have:*

$$G(x) = \frac{\mathbf{O}_0 + (-p\mathbf{O}_0 + \mathbf{O}_1)}{1 - px - qx^2}. \tag{11}$$

Proof 2.5 *Let $G(x) = \sum_{n=0}^{\infty} \mathbf{O}_n x^n$. Substituting the recurrence relation (9) into $(1 - px - qx^2)G(x)$ and after some lengthy manipulation, we have (11).*

Theorem 2.6 *For \mathbf{O}_n defined by (4), we have:*

$$E(x) = \frac{\underline{\gamma}e^{\gamma x} - \underline{\delta}e^{\delta x}}{\gamma - \delta}.$$

Proof 2.7 Using (10) in $E(x) = \sum_{n=0}^{\infty} \mathbf{O}_n \frac{x^n}{n!}$, we obtain:

$$E(x) = \sum_{n=0}^{\infty} \left(\frac{\gamma\gamma^n - \underline{\delta}\delta^n}{\gamma - \delta} \right) \frac{x^n}{n!}. \tag{12}$$

Now we end the proof by combining $e^x = \sum_{n=0}^{\infty} \frac{x^n}{n!}$ and (12).

Theorem 2.8 Let m be a non-negative integer. Then

$$\sum_{n=0}^m \binom{m}{n} \mathbf{O}_{2n+k} q^{m-n} = \begin{cases} \mathbf{O}_{k+m} \Delta^{\frac{m}{2}}, & \text{even} \\ \mathbf{O}_{k+m} \Delta^{\frac{m-1}{2}}, & \text{odd} \end{cases}. \tag{13}$$

Proof 2.9 Let the left-hand side of the assertion (13) of Theorem 2.8 be denoted by S_1 . From (10), we have

$$S_1 = \sum_{n=0}^m \binom{m}{n} \left(\frac{\gamma\gamma^{2n+k} - \underline{\delta}\delta^{2n+k}}{\gamma - \delta} \right) q^{m-n}.$$

Note that $\sum_{n=0}^m \binom{m}{n} (\gamma^2)^n q^{m-n} = (\gamma^2 + q)^m$ and $\sum_{n=0}^m \binom{m}{n} (\delta^2)^n q^{m-n} = (\delta^2 + q)^m$. Combining this with (7) and (8) we get that

$$S_1 = \frac{\underline{\gamma}\gamma^k}{\gamma - \delta} (\gamma\sqrt{\Delta})^m - \frac{\underline{\delta}\delta^k}{\gamma - \delta} (-\delta\sqrt{\Delta})^m.$$

If m is even, then

$$S_1 = \left(\frac{\underline{\gamma}\gamma^{k+m} - \underline{\delta}\delta^{k+m}}{\gamma - \delta} \right) \Delta^{\frac{m}{2}}$$

and hence

$$S_1 = \mathbf{O}_{k+m} \Delta^{\frac{m}{2}}.$$

If m is odd, then

$$S_1 = (\underline{\gamma}\gamma^{k+m} + \underline{\delta}\delta^{k+m}) \Delta^{\frac{m-1}{2}} \tag{14}$$

since $\gamma - \delta = \sqrt{\Delta}$. Finally, if we apply the following the Binet formula for the n th (p, q) -Lucas octonion number \mathbf{K}_n :

$$\mathbf{K}_n = \underline{\gamma}\gamma^n + \underline{\delta}\delta^n [\gamma]$$

for evaluating the right-hand side in (14) we arrive at the desired result (13) for any odd integer m .

Theorem 2.10 *Let m be a non-negative integer. Then*

$$\sum_{n=0}^m \binom{m}{n} (-1)^n \mathbf{O}_{2n+k} q^{m-n} = \begin{cases} p^m \mathbf{O}_{k+m}, & \text{peven} \\ -p^m \mathbf{O}_{k+m}, & \text{podd} \end{cases} . \quad (15)$$

Proof 2.11 *For convenience, let the left-hand side of the assertion (15) of Theorem 2.10 be denoted by S_2 . Applying (10), we have that*

$$S_2 = \sum_{n=0}^m \binom{m}{n} (-1)^n \left(\frac{\gamma \gamma^{2n+k} - \delta \delta^{2n+k}}{\gamma - \delta} \right) q^{m-n}. \quad (16)$$

Employing $\sum_{n=0}^m \binom{m}{n} (-\gamma^2)^n q^{m-n} = (-\gamma^2 + q)^m$ and $\sum_{n=0}^m \binom{m}{n} (-\delta^2)^n q^{m-n} = (-\delta^2 + q)^m$ into we get that in this case

$$S_2 = \frac{\gamma \gamma^k}{\gamma - \delta} (-\gamma^2 + q)^m - \frac{\delta \delta^k}{\gamma - \delta} (-\delta^2 + q)^m. \quad (17)$$

We know by the characteristic equation in (5) that the roots of this equation can be written as $-p\gamma = -\gamma^2 + q$ and $-p\delta = -\delta^2 + q$. Inserting these into (17) gives

$$\begin{aligned} S_2 &= (-p)^m \left(\frac{\gamma \gamma^{k+m} - \delta \delta^{k+m}}{\gamma - \delta} \right) \\ &= (-p)^m \mathbf{O}_{k+m}. \end{aligned}$$

Thus, we complete the proof.

Theorem 2.12 *Let m be a non-negative integer. Then*

$$\sum_{n=0}^m \binom{m}{n} p^n \mathbf{O}_n q^{m-n} = \mathbf{O}_{2m}. \quad (18)$$

Proof 2.13 *Let us denote $S_3 = \sum_{n=0}^m \binom{m}{n} p^n \mathbf{O}_n q^{m-n}$. Applying the Binet formula (10) we transform the left-hand side of (18) into:*

$$S_3 = \sum_{n=0}^m \binom{m}{n} p^n \left(\frac{\gamma \gamma^n - \delta \delta^n}{\gamma - \delta} \right) q^{m-n}.$$

With elementary calculations we have that:

$$S_3 = \frac{\gamma}{\gamma - \delta} \sum_{n=0}^m \binom{m}{n} (p\gamma)^n q^{m-n} - \frac{\delta}{\gamma - \delta} \sum_{n=0}^m \binom{m}{n} (p\delta)^n q^{m-n}.$$

We can now use $\sum_{n=0}^m \binom{m}{n} (p\gamma)^n q^{m-n} = (p\gamma + q)^m$ and $\sum_{n=0}^m \binom{m}{n} (p\delta)^n q^{m-n} = (p\delta + q)^m$ to conclude that

$$S_3 = \frac{\gamma\gamma^{2m} - \delta\delta^{2m}}{\gamma - \delta}$$

which completes the proof of Theorem 2.12.

Theorem 2.14 *Let m be a non-negative integer. Then*

$$\sum_{n=0}^m \binom{m}{n} (\mathbf{O}_n)^2 q^{m-n} = \begin{cases} (\gamma^2\gamma^m + \delta^2\delta^m) \Delta^{\frac{m-2}{2}}, & \text{even} \\ (\gamma^2\gamma^m - \delta^2\delta^m) \Delta^{\frac{m-2}{2}} & \text{odd} \end{cases} .$$

Proof 2.15 *Let us denote $S_4 = \sum_{n=0}^m \binom{m}{n} (\mathbf{O}_n)^2 q^{m-n}$. It follows from (10) that the sum S_4 can be written in a concise form in terms of the roots of Eq. (5) :*

$$S_4 = \sum_{n=0}^m \binom{m}{n} \left(\frac{\gamma\gamma^n - \delta\delta^n}{\gamma - \delta} \right)^2 q^{m-n}$$

or

$$S_4 = \frac{\gamma^2}{(\gamma - \delta)^2} \sum_{n=0}^m \binom{m}{n} (\gamma^2)^n q^{m-n} + \frac{\delta^2}{(\gamma - \delta)^2} \sum_{n=0}^m \binom{m}{n} (\delta^2)^n q^{m-n} \tag{19}$$

$$- \frac{(\gamma\delta + \delta\gamma)}{(\gamma - \delta)^2} \sum_{n=0}^m \binom{m}{n} (\gamma\delta)^n q^{m-n}.$$

The sums $\sum_{n=0}^m \binom{m}{n} (\gamma^2)^n q^{m-n}$ and $\sum_{n=0}^m \binom{m}{n} (\delta^2)^n q^{m-n}$ are respectively equal to

$$\sum_{n=0}^m \binom{m}{n} (\gamma^2)^n q^{m-n} = (\gamma^2 + q)^m \tag{20}$$

and

$$\sum_{n=0}^m \binom{m}{n} (\delta^2)^n q^{m-n} = (\delta^2 + q)^m . \tag{21}$$

We use (19), (20) and (21) with (7), (8) and $\gamma\delta = -q$ to obtain

$$S_4 = \frac{\gamma^2 (\gamma\sqrt{\Delta})^m + \delta^2 (-\delta\sqrt{\Delta})^m}{(\gamma - \delta)^2} . \tag{22}$$

If m is even, the equality (22) becomes the following formula

$$S_4 = (\gamma^2\gamma^m + \delta^2\delta^m) \Delta^{\frac{m-2}{2}} .$$

Similarly, if m is odd, the equality (22) becomes

$$S_4 = (\gamma^2\gamma^m - \delta^2\delta^m) \Delta^{\frac{m-2}{2}} .$$

3 Conclusions

In this work, we introduced and studied some fundamental properties and characteristics of the (p, q) -Fibonacci octonion sequence.

Conflict of Interests

The authors declare that there is no conflict of interests regarding the publication of this paper.

Acknowledgements

We would like to thank the editor and the reviewers for their helpful comments on our manuscript.

References

- [1] Catarino, P. (2015). A note on $h(x)$ Fibonacci quaternion polynomials. *Chaos, Solitons and Fractals*, 77, 1-5.
- [2] Çimen Bolat, C. and İpek, A. (2016). On Pell quaternions and Pell-Lucas quaternions. *Advances in Applied Clifford Algebras*, 26(1), 39-51.
- [3] Dixon, G. M. (2013). *Division Algebras: Octonions, Quaternions, Complex Numbers and the Algebraic Design of Physics* (Vol. 290). Springer Science and Business Media.
- [4] Flaut, C. and Shpakivskyi, V. (2013). On generalized Fibonacci quaternions and Fibonacci-Narayana quaternions. *Adv. Appl. Clifford Algebras*, 23(3), 673-688.
- [5] Halici, S. (2015). On dual Fibonacci octonions. *Advances in Applied Clifford Algebras*, 25(4), 905-914.
- [6] Horadam, A. F. (1963). Complex Fibonacci numbers and Fibonacci quaternions. *The American Mathematical Monthly*, 70(3), 289-291.
- [7] İpek, A. and Çimen, C. B. (2016). On (p, q) -Lucas Octonions. submitted.
- [8] İpek, A. (2016). On (p, q) -Fibonacci quaternions and their Binet formulas, generating functions and certain binomial sums. *Adv. Appl. Clifford Algebras*, doi:10.1007/s00006-016-0704-8

- [9] İpek, A. and Ar, K. (2015). On $h(x)$ -Fibonacci octonion polynomials. *Alabama Journal of Mathematics*, 39.
- [10] Keçilioğlu, O. and Akkus, I. (2015). The Fibonacci octonions. *Advances in Applied Clifford Algebras*, 25(1), 151-158.
- [11] Thomas, K. (2011) *Fibonacci and Lucas Numbers with Applications*. Vol. 51. John Wiley & Sons.
- [12] Szynal-Liana, A. and Woch, I. (2016). The Pell quaternions and the Pell octonions. *Advances in Applied Clifford Algebras*, 26(1), 435-440.
- [13] Szynal-Liana, A. and Włoch, I. (2016). A Note on Jacobsthal Quaternions. *Adv. Appl. Clifford Algebras* 26, 441–447.
- [14] Tian Y., Matrix representations of octonions and their applications, *Adv. Appl. Clifford Alg.*, 10(1) (2000), 61–90.

Received: December 06, 2016